
1 6543 789102

A

F
E
D
C

G
H
I
J

B

1 6543 789102

A

F
E
D
C

G
H
I
J

B

)
<

)<

)

<

)<

)<

voiture =
2 cases

camionette
=
3 cases

camion = 5 cases

)
<

)<

)

<

)<

)<

voiture =
2 cases

camionette
=
3 cases

camion = 5 cases



1 6543 789102

A

F
E
D
C

G
H
I
J

B

1 6543 789102

A

F
E
D
C

G
H
I
J

B

)
<

)<

)

<

)<

)<

voiture =
2 cases

camionette
=
3 cases

camion = 5 cases

)
<

)<

)

<

)<

)<

voiture =
2 cases

camionette
=
3 cases

camion = 5 cases



1 6543 7 8 9102

A

F
E
D
C

G
H
I
J

B


